Whole Numbers Test Review #2

Solve the following bmblems on a separate sheet of
paper. SHOW ALL WORK!

1. 375,11“6 +210,743 =
2. 9,225,007 + 843,916 =
3. Fipd the difference between 38 and 5.
4, 3,877;595% 1,050,385 =
5. 6,005,89‘:25 2,998,046 =
6.1,232x3=
7.89%x17-=
£ 8.9,048 x 65 =
9.29 x 10,000 =
-10. What is the quotient of 56 divided by 8?
11. What is the quotient of 3,624 divided by 67?

12. 947 +3 =




Whole Numbers Test Review #1

Solve the following problems on a separate sheet of
paper. SHOW ALL WORK!

1.4,013 +2,495 =

2.498,115+ 27,977 =

3.39+ 7,736 +416 + 89,417 =

4.97,462 — 6,241 =

5.203,000 — 197,453 =

6. Find the product of 6 and 9. |

7.510x 7=

8.1,000 x 418 =

9. What is the quotient of 333 divided by 97
10, 725+7=

11, 641+29=



